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1(20% ) - | |
Let X and Y be independent, and let fi(x)=e™, x>0 , fr(y)=e”, y>0. Suppose U=Y/X, V=X.
Find the marginal density of U.

2.(20% )
Let X and Y have joint density f{x,y)= y/10, (x,y)=(1,1), (1,2), (1,3), (2,1), (2,2), (3,1). Find
Var(Y[x=1).

3.(20% )
Let Xi,...., X, be independent, n=2, and X;~N(p,0* ), where(l,c” ) are unknown
parameters. Find maximum likelihood estimator (MLE) of (/o).

4,(20% )
Let V; be independent, Vi~N(y, 6 ) and U, = Vi+...+V,. Find the probability limit of
(Uy /n) as n tends to infinty, i.e., plim (Un /n) =7

5.020%)

Two diets are compared. Suppose that 35 men on the first diet had a sample mean weight
loss of 20 pounds with a sample standard deviation of 4 pounds, while 60 men on the second
diet had a sample mean weight loss of 17.5 pounds with a sample standard deviation of 8
pounds.

Do a two sample test to test the null hypothesis that there was no significant difference in
the mean weight losses for the mean on the two diets. Use a 0.05 test. (If Z is a standard
normal distribution, then Prob (Z <z)=0.95, when z=1.64 and Prob (Z <2)=0.975, when

7=1.96.)
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